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Mathematics 
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Sol. 
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181. 2 
Sol. 
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186. 3 
Sol. Let the men salary Rs. 100 

After 10% reduction salary = Rs 90 
Amount increased Rs. 10 to bring it on original salary that is Rs 
100. 
Percentage increased = 101100=11% 

90 9
 

187. 3 
Sol. 

 
188. 4 
Sol. C.P of pen (each) 10=Rs. 

101020500=1.50 Rs. 
100 100 100

11

 

 

S.P of pen (each) 11=Rs. 
10

So it is clean its profit 
11 10 21profit= − = Rs. 
10 11 110
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189. 4 

2111=100=21% 
10  110

Sol. 

 

 

1111+=x− 
3 4 3 4 
71=xx=7 

12 12

7y2 + 7 = 50y
7y2−50y+7=0
7y2−49y−y+7=0
7y(y−7)−1(y−7)=0 
y =1/7,7

1
7x =  x = −1

7
7 =7 x =1



 

190. 3
Sol. Let B’s income = Rs. 100 

A’s income = 100 + 20=120 Rs.
It is clear that if A’s income is Rs. 120, B’s income is 100 Rs. 

which is less than Rs. 20. 
B's income less by 20A=100 

120

 

 
191. 1 
Sol. 52 – complete weeks 

1002==16% 
6 3

Two days can be Monday Tuesday, Tuesday Wednesday, 
Wednesday Thursday, Thursday Friday, Friday Saturday, Saturday 
Sunday, Sunday Monday. 

F sat Sat S, SM 
Total case = 7, fordable case = 2 
Prob = 2/7 

192. 3 
Sol. 
 

22sincossin2sincos== 
2 2 2
Min value of sin = - 1 

sin2 1
2

min value of = −  
2

 

193. 2 

Sol. 
 

It following a particular pattern 
103 −1 106 −1

=Quotient =9, =9009
111 111  

1012 −1similarly =9009009009
111

 
194. 4 
Sol. 
 
 
195. 1 
Sol. We all known that 

log3x+4=log729 

3x+4=36
x + 4 = 6  x = 2  
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196. 4 
Sol. Using factor theorem, 

q3w2= 
p2

Put x = - 1 in the equation 
100 99(−1)+2(−1)+k=0 

1 − 2 + k = 0
k = 1

 

 
197. 2 
Sol. 
 

If original radius r 
then volume of cylinder =2
New radius = 1. 1r 
New volume =1.21 r2h 
=1.21r2h 

So increase in height =


 =17.36% 

198. 1 
Sol. Square on both side 

x+1+x−1−2x2−1=1 

2 −

 
199. 2
Sol. Prime no from 1 to 30 

2, 3, 5, 7, 11, 13, 17, 19, 23, 29 = 10 
10
30

1
3

prob.= =  

 
200. 3 
Sol. In two day insect climb = 2 – 1 = 1 m.

So in 20 day, insect climb = 10 m.
In 21th day insect climb = 2m
Total height = 10 + 2 = 12 m 

2x−1=2 x 1
again sqaure

4x2 +1− 4x = 4(x2 −1)
4x2 +1− 4x = 4x2 − 4
4x=5x=5/4

rh 

1.21 1
1.21

100% −  


